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Question 1
Question Type: MultipleChoice

Which physical component is distributed among multiple virtual machines running on the same hypervisor?

Options: 
A- external storage

B- hardware resources

C- network interfaces

D- backplane network

Answer: 
B

Explanation: 
Topic 5, Simulations / Lab



Question 2
Question Type: MultipleChoice

Refer to the exhibit.

Which action must be taken so that neighbofing devices rapidly discover switch Cat9300?

Options: 
A- Configure the cdp timer 10 command on switch Cat9300.

B- Enable portfast on the ports that connect to neighboring devices.

C- Configure the cdp holdtime 10 command on switch Cat9300.

D- Configure the cdp timer 10 command on the neighbors of switch Cat9300.

Answer: 
A



Question 3
Question Type: MultipleChoice

Which EtherChannel mode must be configured when using LAG on a WLC?

Options: 
A- on

B- active

C- auto

D- passive

Answer: 
A

Question 4
Question Type: MultipleChoice



A network engineer starts to implement a new wireless LAN by configuring the authentication server and creating the dynamic Interface.

What must be performed next to complete the basic configuration?

Options: 
A- Install the management interface and add the management IP.

B- Configure high availability and redundancy tor the access points.

C- Enable Telnet and RADIUS access on the management interface.

D- Create the new WLAN and bind the dynamic interface to It.

Answer: 
D

Question 5
Question Type: MultipleChoice

Refer to the exhibit.



What is missing from this output for it to be executed?

Options: 
A- double quotes C') around the 'Cisco Devices' string

B- curly brace ()) at the end

C- exclamation point (!) at the beginning of each line

D- square bracket ([) at the beginning

Answer: 
B

Question 6



Question Type: MultipleChoice

Which group of channels in the 802.1ib/g/n/ac/ax 2.4 GHz frequency Bands are nonoverlapping channels?

Options: 
A- channels 1, 5, and 10

B- channels 1,6, and 11

C- channels 1,5, and 11

D- channels 1,6, and 10

Answer: 
B

Question 7
Question Type: MultipleChoice

Which action must be taken when password protection is Implemented?



Options: 
A- Use less than eight characters in length when passwords are complex.

B- Store passwords as contacts on a mobile device with single-factor authentication.

C- Include special characters and make passwords as long as allowed.

D- Share passwords with senior IT management to ensure proper oversight.

Answer: 
A

Question 8
Question Type: MultipleChoice

What are two reasons lo configure PortFast on a switch port attached to an end host? (Choose two.)

Options: 
A- to enable the number of MAC addresses learned on the port to l



B- to protect the operation of the port from topology change processes

C- to enable the pod to enter the forwarding state immediately when the host boots up

D- to prevent the port from participating in Spanning Tree Protocol operations

E- to block another switch or host from communicating through the port

Answer: 
B, C

Question 9
Question Type: MultipleChoice

What does traffic shaping do?

Options: 
A- It modifies the QoS attributes of a packet

B- It queues excess traffic

C- It organizes traffic into classes.



D- It sets QoS attributes within a packet.

Answer: 
A
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